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1. Permianjeghomtey IR:

(a) logs (3"+ 2). logs (3" +1 +6) =2

logs (3" +2). logs (3(30+2)) =2

logs (3x+2).(log, 3 +logz(34+2)) =2 CMetta:t=logz (3" +27

t(1+t) =2
+2 +t - 2 =0

ty =4.(-2) =3
t= -2,t2 =1

10 t,i-2: 20+2 =1

- 2 =80g,(3x +2) 1 =logy(3"+2)

30+2 =3
- 2 34+2 =3

302=1
34 =g - 2 <0

x=0

=> Hencepemeberjep300

(8) sin"+2c0s"5 =3 ↓ Ropecutumo:o end
2 2

(1
-

wsz)+2(n
+

ws 5) = cos2 =
1

+c0st

2

* - Ics5 +1205 +1 +0. +E(03) =1 4

3(053 +22055 - 3
=

0 CHR:t=(0s > ([1,1]
37 2 +27 - 3 =0

(1,z =

- 21

1+36 -N
-1 - 10

10 + 1 =
3

< -1 => Hervpawea

20tz =-14.

(0s5 =-1
+10

3

=>E = I arcus
-

10 +2kπ =) x=13aN(0s"750 +6aπ,k+

1



2. Perman Heighanutty& IR:

x+4
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M 173 30T gebeba
10x>3,jy: x- 370 20x - 3

x+7it - - >11.(-3)x- 3 cruc go MHOHUM

& c(x-3) jep 3Hmo

x+1 -5+73x- 11
go jex2-3x0
② Hav Heegtakocu
He retta

5+7 =15/2
10+71 =225 x>3y10ta

x+7 =225je(x
+1) =x+7

x =218

Bakerak: xz(3,217]

20 x<3, jx2- 3< 0
x+4 - x- 11 corga jex2-3<0x+7
...

x-3 even/.(3-3) amtothborcareen
- x- 4 -5+71 x- 11
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3. Opegiugorent
(a)f(x) =e)x-12 -2v)

A

cute-2-(sompoe -.. . --.x1 =- 4,x2 =3

xt( - 8, -4]u(3, +1)

x-12-27>0(300 noiaprimma)

x-12 x 2Vz/
2

xz
+x- 12 > 8 M

xz +x- 20>0

31z =(80 =-179 +1 15-
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=
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jo impotenti goment:F =( - 0, -5)u(9, +0)
(8) f(x) =arty (3x-π)

&f =1
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4. Cugrpan prefers opyskyezef(x) =1cos-I
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5. Usponysiusaresin (cost)

was 1897 =cos (PT - 1) =cos(*) =c0sI =sin)- ) =sin

=> arsin (10s[9T) =aresin (sin)= 4



HANOMEHE

1. If alone agains be Hecare popunnuigetimus

log a - logb = log (a+b)
jeptije iron.

2. Bagation1.5) Inotes go is page thelame

Aarta, are trabeeuggije ipragium cle

y sin nave cos inlesion carery.
3. Kaya is HejigHakoiutostaAsamutual opens, okpete
Bak Agegiakoum.

4. Crysi y =arctysc je gefitucase theyenou IR.

(Roquestje sHom pastrike classenementoptic dryhee:
itetta, Kopera, excitedizigoutanotafianos,
infutotorence.... &

5. Desymant y ironsagacizy egn tieus
cyia l-E, I] jepjeinovogonent dighkye
y

=arcsinx.

8010Bape no Balayuma:

1. 10 +10

2. 20

3. 12 +4+4
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- 20


